Number Bonds to 10:

True or False?

Can you find the missing numbers?
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TorF TorF
5+6=10 10=0+ 10
10=8 + 2 9+3 =10
/7 +4=10 5+5=10
1+9=10 10=6+4




Number Bonds to 20:

Can you find the missing numbers?
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True or False?

TorF TorF
14 + 6 = 20 20=0+ 20
20=17 + 2 19+2 =20
12 + 8 =20 15+5=20
10+ 10 =20 20=6+ 13




Match the numerals to the words:

seven }

thirteen
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forty eight

sixty three

Write these numerals as words:
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29 51

77 100




Complete the table the first one is done for you:

B = 1unit = Tten

5+6=11

104+ 2=

15+4=

21+ 13 =

37 +21 =

42 + 46 =

59 + 40 =




Jack says he has 61
Is he correct?

Explain your reasoning.

Here are two sets of objects.
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Which are easier to count?
Explain your answer.

Each jar contains 10 cookies.
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How many cookies are there altogether?

Write your answer in numerals and
words.

What strategy did you use?

17+ 10>17 + 8

Is this number sentence correct?

How do you know?

Can you explain why without actually
adding the numbers?




